INTRODUCTION TO COMPUTING—2G07

Timé -3 Hours

10x1=10

Full Marks :

(d) 15 .

SEMESTER—-Z
“Group—A :
(Muitfple Choice Questions)
1 Choose the correct alternatwe in each of the followmg
(;), “In. hexadeczmal numbef system, Fis equivalent to the number in decimal.
(@ S )12 : (c) 16
Ans.is: [(M)] y
Which are of the following is conditional operator?

G

(iii)

[Note :

(iv)

)

@ ? ‘(b)nf‘_, ©)< .

Ansls-

D& &

What will be the value of i & m after executmg the foﬂowmg code?

int i =5, m,
m=j++

@s&6 ®)5&S . () 6&S

Ans. is : [(9)]

) 6&S6

70

In this case first assignment is done ie, m holds the value = 5 and after that i w1ll

be increased by 1, i.e. 6 here]

During storing of numbers in computer memory posmve sngn is denoted by

(a) 0 . ®1 - @©+ -
Ans.is:[(@)] e ‘ |
Number of bytes reqmred for double is :
(a) 8 - (b) 4 T (e)2
Ans.is : [(a)] o ' o

[Note : ‘Byte requied for float is 4 -

So ., .. ,» double is 4 x 2=8 bytes]

What will be output of the followmg Codeé?

(vi)

@ 0 w1 ©120

mtlf—-l -
for(l“l,l<-5,l++)

f="f*i;
print £ ( "%d") ;
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The answer is.not in the list. : - v :
. Because, at the end of the executlon of the for loop i w1ll contam the value 6 & came
- out from the for loop as condition fails. So,iow f=1*6=6 ‘
. -So, this program will print 6, which is no in the list.
(vn) Which of the following is not used as secondary storage ‘?
(a) Semiconductor' memory. = - .(b) Magnetic disks
- (c) Magpetic drums L : . (d) Mva‘gnetklcntapes
‘ Ans. is ; - ; - h
(viiiy The ALU: of Cemputer normally contains -a number ‘of - hlgh speed strong elements
- called ,
(a) Semiconductor memory (b) Reglsters
(c) Hard disk- e (). M@gnetlc disk.
Ans. is : [ |
[Note : Though ALU does not contain any register, actually the contamer is CPU, ALU &
register both-are parts of CPU] s s _ ,
(ix) ~ The register which contains the mstructlons that are to execute is known as.
- (a) Index register (b) Instruction reglster ,
(c) . Memory address register : (d) Memory data register
Ans. is : - , ‘
x) A32 bxt microprocessor has the word length equal to.
(@) 2bytes " (b) 1 bytes (c)4bytes - {(d) 8 bytes -
Ans.is: [(0) ] - o '
(xi) The.union holds- = _ - o
(a) one object at a time ~ (b) multiple objects
(c) both (a) & (b) o - '(d) none of these. -
The Ans. is : [ (a)/(d)] ' o AR
(xii) The function used to detect the end of file is ‘
' (@ eof () (b)femor " () fputs - (d) fgetch
" The Ans. is : , ;
o  Group-B : A
(Short Answer type Questions) = -
'Answer any three questions. R 3x5
2. Write a C program for checking whethers a number is pnme or not. _ 5
Sol. :

# include <stdio.h> : e
# include <conio.h> ’ ' '
void main () '
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R , o |
- . intn, test, prime =1 ;
crser ();. .

~ print f ("Enter the no ; \n") ;
= scanf ("%d", & n); ,
e "for(test“Z test< sqﬁ(n), test ++)
,' lf(n%gest 0)
~{ prime =0 ;

i :
N if (pnme) _
2 prmtf ("%d isa pnme no: \n n) i
ooelse oo Coe
| o pnmf ("%d is not a prhne no \ n" n) TN
Vetch(), o |
3. (a) Write down the difference between Compiler and Interpreter. 1
(b) Briefly describe the functions of memery unit and discuss its various parts. 2
(c) Write down the generation wise development of the computer hardware. = 2

Ans. (). Complier is a program which goes through the ‘whole highlevel language program
and shows the error after checking the whole program _(if any), after _correcting the error
manually we have to recomplite it & it converts the prog. into machine code. But in the case
~of ‘interpreter it checks line by line the program, if in any line. it finds.-any efror then
immediately stops checking & print the etror, You have to every time correct the error & then
go for the further mtexpretatmn [And also see the Q. No: 3(b) of 2005]. :

- Ansdb) P‘i’xnctlon of Memory unit, Memory ‘unit is used to store data permanently for

longer period of time. ; ;
Power memory devices are
§)) Harddxsk/magnetlc disks
(2) floppy disk

- (3) Optical disk/ CD-ROM

T @) DVDROM '
-(S) Magnetnc tape. .
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, Aus.(c) , '
.- Generations HD used LT
Ist - Vacumetube '
2nd - Transistor _
" 3rd - Intigrated Ckt
 4th - Very large scale Intigration
Sth ‘-—) Ultra language Scale Intlgration
4. State the output of tlie followmg pmgram codes with your jnstif‘ ication about how
the output obuined : _ v
(@) Void main ()
{ S
Tointij; oo
Cfor{i=1;i<=;i++)
{ e
for {j=1;j<=2;j++}
if {i==j)
" continue ; 3 W
prmtf ( "t\n% d% d\n" ij);
- ) |
3
Thc output wnll be 1 2
21

“Initially i & j get the value 1; & when it goes for condition checking; it becomes true &
than the continue statement bnngs the control to the startmg point of the current block, means
j++ by skiping the printf function. Now the value of j is 2 ‘after increment which does not
satify the condition of if & print 1 2. Again j increased by 1,-but 3 is greater-than 2 so
condition fails. Now i is incremented by l&lgetsdzevaimz&atﬂwsamumevameofj
is 1. So it will print 2 1, as the condition ijfasaotswsﬁad again..

- - Now, i = 3, condition failed
' So the output will be - 12
21
(b)Vgid main ()
{
int n=8;
n=n<< 2 :
printf ("n.n=%d", n);
} 2 :

i
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It will print 32.

Because, 8 is binery is 1000, now 1 is shifted by 2.
8000 =1 -0 =80

after shifting :

0508 T 00 0 0

Now, 100000 is equivalent to 32 in decimal digit. So. the output will be 32.

5.(a) Draw the flow chart to display the first n terms of the Fibonacct series. The
first two terms of the series are respectively 1and 1. The nth term of the series.

F is defined as F =F ,+F ,

Ans. Flow chart of fibonacci series
(START)

i1
a[0] « 1
afl] « 1

Y
7/Write : a[0] a[1] /

h
i—i+l1

@ = (Si08

NO

afi] « afi—1]
+ afi - 2]

[ vrite il /

-

(b) Write an algorithm to find the sum of the first n even numbers, where n should

be read from the user.
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~ Ans. Algo to find the sum of 1st n even nnmhers

~ Step 1 : Intialize i & sum o
: C i:=2;sum:=0; R
Step 2 : take n as input o C
Step 3 : check the condition. wherter i is greater then equal to nor not
If yes than ' goto step 7 :
. Step 4 : Incrtment iby2[it:= 2]
Step 5 :  Calculate the sum,
o ‘sum —sum+|, :
Step 6 : Goto step 8
~Step 7 : print the sum as output
Step 87 Exit ' _
6. (a) What is recurmon ? Explam with an example
(b) What is a ternary operation? :

Ans. (a) Recursion means the self”’ reference 1e the- defi nation of recurs:ve funstmn is
based on itself. When a called functlou in turn calls another function a process of chammg'
Occurs, Recursnon is a special case of this’ process where a functnon calls it sekf o

. Simple ex : -
~ main ( )
-{ printf ("This is on example of recursnon\n")
main ( ) '
) :
Another example of recursion to evaluate facioml of n:
_ factonal (int n)
§
int fact ;
if(n==1)
return (1) ;
| else v .
‘ tact-—n*factorlal(n l), oo AR ’ ~,‘.
 return (fact) ; ‘ :
) .
Ans. (b) See Year 2002 Q. No. 6 (a)
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S | Group——-C »
(Long Answer type questions)
Answer any ‘three questions.

7. (a) How can you represent 2 string using the C progrnmmmg laaguage" , 1
‘ (b) Name any five string functions whose prototype is deﬁned in the. strmg h
“header file. Explain the work of any two of them. : 5

~ () Write a C program to find the number of vowels and consonants m a hne text. 4
- (d) Write a C program to convert all lower case alphabeu to npper case alphabets,
a lineoftext . , R 3
" Ans. (a) Declaring a strmg ' e
Char crty [10y;
char name {20]

[Note When the compher assrgns a character strmg to a character array, it automatrcally
_ supphers a null character (\0") at the end of the String. ] ' :

Inmahzmg if- = Char strmg [1=4 'G' 'O, D', 0}
or, Chhar str.[10] = "GOD" ;.
Read rt.fmm keyboard => Cbat addqrss [y . -
: B Scanf ("%S", address) 3
prmt the Output = printf ("%S" address)

Ans. (b) .
String Functwn \ ¥ Ac,tion
Streat () . Concatenates two strings
Stremp () Compares two strings
. Strepy () - Copies one strings over another
Strlem ()~ - finds the length of a string ‘
Stmcpy O) ‘It copies only the left most n character of the source strmgs to the

target string Variable -

© Streat (): The streat function joins two strings together like = strcat (string 1, strmg 2)
~ Siring 1 & String are character array. When the function i is executed, string 2 is appended
-to stringl. It does so by removing the null character at'the. end of strmg 1 & placmg strmg 2
- from there. For example—

. 0 1 2 3 45 6 7 8 .9
Stringl= V- E. R Y- \0 -
o 0 1 2 3
String2= B A. D \o0o *



~ Now after concatmation we get :> |

Strcat (strmgl string 2) ; - T
0 1 2 3 4:5.6 78 9 "
oM B R R B A D

St&‘emp 18 ) ;Jt compares two smngs 1dem;ﬁcd Qy the arguments aad has a value 0if they
are equal. If they are not, it ha; the. ;;ym@r;g ﬂ;ﬁemace betwecn the ﬁrst nonmatching
charac;erg in the stnngg,

. like = sjrcmg (st;mg l stzmg 2) )
) Strmg 1 & Strmg 2 may be strmg vanable or stfmg constant
Ex : Stremp (“their”, “there”) ; : g _
'A_wdl return a value of 9 which is the numeric dlﬂ'ercnce between ASC II MY & ASCII

. Strepy () : The strcpy function works almost like a string-assignment operator, llke -
strepy. (strl,str2); and assxgns the contents of strmgs to string 1. String 2 may, be a character
array variable or a string constant. ‘For example strcpy (c1ty, “DELHI”) w:]l assign the
strmg “DELHI” to the string variable city.-

- Str len () : This functions counts & retumg the member of charatters in strmg It takes the
form n = strlen (string) ;

Where n is an“integer variable, which receives the vaitie of the lengt‘h of the strmg
Ans. (o) - : e '
' # include <stdio . h >
# include < string. h>
# include < conio . h>
Void main ()
{CharStr[‘SO]; o ,
Inti=0,x=0,y=0,n,b,¢ ‘;‘
CClrser()s . - 4
printf (" Enter the Stnng " \n") s
: .wgets{str), S s e R
*Whﬂe(Str{iT"‘ SN e T e e N
{if ((Str [i]=="a) || (Str [l] =="¢)) || (Str [i] = ='J
I Str [i]=="0) || (Str [i] =='w") ) '
CxH
lf (( Str [i] >'0') & & (Str fi] < '9'))
yHt;

>
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if (Str[i}J=="")
b
R 52
},
=n- (x+y +b) ;
prmtf ("The number of Vowels are %d\n x) ;
printf ("The. number of Vowels are %\n" ; 3%);
' printf ("The number of Consonenta are %d\n", ©) ;
"getch 0; :
1/ end of main

Ans. (d)
- # include < stdio> main ()
# char Srr [50] ; '

int-i=0 -
8. (a) Write a C program to create a copy of a text file "file 1. text" into another,
"file 2. text . : N -9
(b) What is the dxfference in opemng a ﬁle in "r+" and "w+" modes" - 3
(c) What do the printf () and functions do? - ‘ o 3

Aus. See 2004 Q. 11 (ii)

"Ans. (b) In the case of r+ the exxstmg file is opened fo the begmmg for both readmg &
,wntmg w+ open the file for writing only same as w except ‘both for reading & writing; -

Cocms.Ae) The fwﬁtlmfp;mﬁwraésaw nﬁdm vakes tesﬁie ‘The operation is samie as
prmtf onlygifference-ds it workson fide. v s Aoeen ST A TR :
- Format: &M{fp; tcobtral string”’j:list)i; fp . fﬁe pm:
The fmﬁ&()m&cmb&ﬁmmﬂ read.

‘rows, where n is a

(b) Write a C program to accept a stnng aga tom e rgumentand hence

find its length
Ans. (a)

e e B
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# include < stdio'h>' o BRI |
# include < como h> _ S ‘
'demam() ’ R S e
{mn;,n clrscr(), 7 PRRREI ‘

prmtf (“Enter the number of row : \n”) ;o
‘scanf(“%d” &n); '
for(i=lji<=n;it+).
{ for(] 4;j>=§J--)
S e )

for(G=1;j .<-='i,j++)
printf (4 * ) ;
Cprintf (% )3 |
printf (“ \n”); - T
} . . . . - '.i‘ . R “ : ’ )

 Ans, (b) See Q No 9(a) of 2003
- 10(a) " What are structure and structure varia!:le" What are arry & subscripted
variable? Compane array & structure data type with suitable examples. - 5
(b) Wﬁat ‘are ‘the functions. ofa CPU? Hmv does.the CPU perfom them? S
) A magneﬁc disk pack has 12 snrfaces out of whieh 10 are readable. Each
~ surface has 50 tracks and each track is divided into a number of sectors. If
the total capacity of the disk pack is 50000 K bytes, and the cnpacity of each

. sector is 512 bytes then. o o ,
@) How i ‘many cyhnders are pment in tbe dlsk pack" e . .3
(i) How many sectros are present on each track? ' 2

Ans. (a). Structure is an user deﬁned data type, a mechamsm for packmg data of dxfferent’
types. A structire is a convenient tool for handlmg a group of logically related data items.
Structures help to organize complex data in a more meamngful way. '

- After defining a structure format we can declare vanables of that type. A structure variable
declaration is similar to the declaration of variables of any other data types.
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e “lefc struetdre book-bank ' v
: char title [20]
" st pages :
. float pr_we
- Struct book-bank book 1, book 2 ;
Here book 1 & book 2 are Structure Variables.
: # An array is a ﬁxed suze sequenced collection of elements of the
5 same data type '
a {1] ls called subscnpted vanable where i-is called subscrtpt
# See pnvtous year.. o
" 'Ans (b) See 2002, Q. No. 3(a) for CPU. only,
- Ama. (©)(D) No. of cylmders 12 % 50 = 600

o 5000 x 1024
.,-,(ii). No Qfsectors --*-—‘-5—-]3—-— 10000 - :
llerteshortnotesonnnythme ' o 3x5 =15
' (a) Enumerated data types : - o ‘
(b) Dynamic memory allocation
(¢) Array of pointers
(d) Multlpmgramming Operatlng System ;
‘ Ans. (a) Enumerated data type : It is an user—deﬁned data . type provnded by ANSI
standard 1t is defined as follows ,

" enum 1dent|ﬁer { value 1, value 2. value n }s;

* The “identifier” is an user-defined enumerated data type which can be used to declare
variably that can have one of the values enclosed within the braces ,

We can also declare it like — -

enum day { Monday, Tuesday, ..... , Sunday } ;

Here the compller autometically assigns integer digits begmmg with 0 to all the
enumeration cOnstants That means, Moday = 0.

Tuesday =1... i ‘
- Now, enum day { Mon =1, Tue, ..., Sun} ; .
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Here, the constant Mon is assxgned the value of 1. The remaxmng constants ‘are assigned
values that increase successively by 1.

_ Ans. (b) See 2005, 9. (®. '
Ans. (€) See 2005, 9.(d). - o
“Ans. (d) Mu!ﬂprogrammmg Operating System : An operating’ system provndes the
env:ronmem wnthm which programs are executed. One of the most important aspects of
operating systems is the ability to multiprogram. A smgle user can not, in general, keep either
‘the CPU or the I/O devices busy at all times. Mulﬂprogrammmg increases CPU utlhzanon by
orgamzmg jobs so-that the CPU always has one to execute The operatmg system keeps
several jobs.in memory s:multaneously This set of _)obs can be a subset of the jobs kept in the
job p \ool——whtch containg all jObS the enter the system—since ‘the number of jObS that can be
kept s:multaneously in memory is usually smaller than the ‘number of jobs that can be kept in
the job pool. The OS picks & begmg to execute one of the jobs in memory. ‘Eventually, the
job may have to wait for some task, such as an /O operation, to -complete.’ In a non-
| multxprogrammad system, the CPU would sif-idea. In-a multiprogrammed: system; - the
.operating system simply switches to, and executes, another job. Whgn that _;ob needs to wait,
the CPU is sw‘tched to another job, and so on. Eventually, the ﬁrst Job firshes: wamng & gets
the CPU back. As long as at least one job needs to execute the CPU is never idea, . . -






